Tangents and Normals

1. For the function y = x* +2x , determine ‘\ ' /
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b) the instantaneous rate of change of the functionat x = 1
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c) the equation of the tangent to the curve at x = 1 ( ll3)
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d) the slope of the normal to the curve at x =1
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e) the equation of the normal to the curve at x =1
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Find the slope of the tangent to the curve y = f(x) at x = a
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At what point is the tangent to the curvey = x* — 3x + 2 horizontal ?
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Find the equations of all tangents to the curvey = il that have a slope of -1. t° 2219
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Find the equations of all lines tangent toy = x? that pass through (2, 3)
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